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����5�������. "��4���9�-������5,����0���� 

Is considered realization of the device for calculation of correlation function of 
the third order in the real time. 
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� ����� ������ ��	������ ��

�	����������������	�� ���
���������
� 
"�����������
���������������	�� 4, �
�����������>����	 
��3��
�
���
��	
���������	��	�

t3���������������������	�	��	
���������	 ������
� ������� ���	��������������������#
����

���������� 
�
�������0���	�� 4, �
�����
�&	
�������	
��	����=���������	��������������	�����  
� 
:�������������
�������������� 
�
�������0���������������������	���
�	������������ ��

�	 ����� �
–1

�� �� ���� t3<T�� '��������� �������	� �� �	����� 
�
�
���� 7� ���������� ��� �����

�������	��� =3�� ���� � ��� �� N� �� �
����� �	���
�	������ �� �	��������� ���
����� �
���������

�
=Θ �� ��� ��	
� ���	��������� ����
�������
����
������������ ���������� ��� �������� ����

�����������	�����=���������	���������������������������������	����� �
��%���	 ������������

������
�������
�������
��������� 

 
���� �� )	���� 
	�������� �������
 ����	��� 

-�����������	���	�����  
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�&� ��������� ���	�����=��������	������� ���	 ������xn}, 
n?�����	������������������������
 ������������90��$��n+M)-������
�������	���
�	�����, n>0 
�������	�i- ���
�
���#������-.5��, Mi ,1= ���������������
�����	 ������xn���+- ���	��������
xn��–� �� i- �� �	����� �
 ������ 90� ������ ������������ �������	� ��� �	����� �
�
���#������

MPL.i�������������������
���{xn xn��–�}, n>0. 
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3����%����������������	�����j- ���������
�
���#
����-.5�j. 
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��	�

(i, j
� ������������� ������� ���
����
������������ R(i,j
� �� ��������������� ��� �	�� �� ����+=4. 
-���
���� �	 ����� R(i, j
� ��� �	������ R(i,j
� ��
�� ������� ����� ��� �������� �� ���
������

�
��������� 2Θ ���	�� 2), 12 Θ=Θ �������������	������������������������ ����� 
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#
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��-
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�
���#
����-.5���� ��� −= 3� ���
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���#������-.5����

��
���������������������tsm�����������;-���������Q. ,�����#
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T>2 tmpl + tsm. 
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Tmin=max( tmpl, tsm). 
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� ����!��
)������������ +5�
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